Selection pp — T — tx!

pp — Bg,g — bf({f

pp — 49,9 — qx}

nty = 600 GeV m; = 600 GeV ng = 1000 GeV

Mz = 400 GeV Mz = 450 GeV Mz = 800 GeV

Niet > 2 99.6 +0.0 95.4%0.1 97.8+0.2

Hr > 300 GeV 722403 58.2+0.3 83.0+ 0.4

HIPss > 300 GeV 92402 13.6£0.2 31.3+0.5

Hiss /Hy < 1 91402 132402 30.2+0.5
Ninuon = 0 7.0+0.2 13.140.2 30.1+0.5
N e =0 6.9+0.2 13.1+0.2 30.1+0.5
Nelectron = 0 54+0.1 13.0£0.2 30.0+0.5
N{%fgfggrgacks =0 52+0.1 12.9+0.2 29.9+0.5
N{adrom =0 48+0.1 12.840.2 29.6+0.5
Nohoton = 0 47+0.1 125402 28.8+0.5
Ay, > 0.5 47+0.1 125+0.2 28.8+0.5
Ay, > 0.5 3.9+0.1 113402 27.1+05
Ay, > 03 34+0.1 10.7+0.2 26.0+0.5
Ay, > 03 3.0+0.1 102+0.2 252405
Event quality filter 2.7+40.1 9.5+0.2 23.6+0.4




